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1) Line through (0, 0) ond (5, -2): Lqt (xt, yr) = (O, O)

x = O * t(5 - O), y = O * t(-2 - O) Or x = 5t, y = -2t

2)Line through (1, 4) ond (5, -2): Let (1 ,4) = (xr, yr)
x = I "t(5 - 1), y = 4*t(-2 - 4) Or x = I + 4t,y =4 - 6t

3) Circle: .centerz (2, t), r = 4
x=?*4cosO y=1+4sinO

4) Circlez center: (-3, 1), r = 3
x=-3*3cos0 y=1+3sinQ

5) Ellipse: vertices: (*-5, O), foci: (*-4, O)

(h, k) = (O, 0), horizontol, o = 5, c = 4, t6 = 25 - b', b? = 9, b = 3
x = O* 5cos0, y =O" 3sin0 Or x = 5cos9, y = 3sinO

6) Ellipse: vertices,: (4,7), (4, -3), foci: (4, 5), (4, -1)
(h, k) = (4, 2), 

"verticol, 
o = 5, c = 3, 9 = 25 - b', b? =. !6, b = 4

x = 4 * 4cos e, y = 2 * 5 sin 0

7) Hyprbolo: verticesi (*-4, O), foci: (*-5, O)

(h, k) = (O, O), horizontol, s = 4,c = 5, 25 = 16 * b2, bz = 9,b = 3
x = O + 4sece, y = 0 * 3tonO Or x-= 4secO, y = 3 tonO

8) hyperbolo: vertices: (0, *-1), foci: (0, +-5)
(h, k) = (0, O), verticol, o = 1', c = 5, 25 = 1 + b2, bz = 21, b = 2G
x = 0 + 1 tanO, y = 0 " 26,secO Or x = tqnO, y = 2G sec g


